

Serum zonulin levels and intestinal permeability in Behçet's syndrome: a cross-sectional study

M. Erdogan^{1,2}, F. Ozbakir³, B. Yurttas¹, İ. Hatemi⁴, E.A. Kurt⁴,
D. Cevirgen¹, H. Yazici⁵, G. Hatemi¹

¹Division of Rheumatology, Department of Internal Medicine, Cerrahpasa Medical School, Istanbul University-Cerrahpasa, Istanbul; ²Division of Rheumatology, Department of Internal Medicine, Marmara University, School of Medicine, Istanbul; ³Central Research Laboratory, Cerrahpasa Medical School, Istanbul University Cerrahpasa, Istanbul; ⁴Division of Gastroenterology, Department of Internal Medicine, Cerrahpasa Medical School, Istanbul University-Cerrahpasa, Istanbul; ⁵Academic Hospital Istanbul, Turkey.

Abstract

Objective

Increased intestinal permeability has been implicated in the pathogenesis of autoimmune and inflammatory conditions, including Behçet syndrome (BS). Zonulin, an endogenous regulator of intestinal tight junctions, serves as a biomarker for assessing intestinal barrier integrity. We aimed to evaluate intestinal permeability in patients with BS using serum zonulin levels, a novel and validated biomarker for intestinal barrier dysfunction.

Methods

A total of 173 participants were enrolled: 87 patients with BS, 20 patients with Crohn's disease (CD), and 66 healthy controls. Patients with active gastrointestinal symptoms, risk factors or using medications known to affect intestinal permeability, were excluded. Serum zonulin levels were measured using ELISA. High levels indicate increased intestinal permeability. Behçet Disease Current Activity Form and Crohn's Disease Activity Index were used to assess disease activities.

Results

Median serum zonulin level was significantly lower in BS patients (24 ng/mL, IQR: 18–43) compared to CD patients (112 ng/mL, IQR: 22–204) and healthy controls (109 ng/mL, IQR: 36–226) ($p < 0.01$). Multivariate logistic regression analysis identified female sex as the only independent predictor of elevated zonulin levels (OR=13.5, 95% CI: 2.5–72). Immunosuppressives, disease duration, age, and major organ involvement were not significantly associated with serum zonulin levels.

Conclusion

In this cross-sectional study, patients with BS did not exhibit increased intestinal permeability. Longitudinal studies, including treatment-naïve patients, are required to better understand the role of intestinal permeability and gut microbiota alterations in the pathogenesis and disease activity of BS.

Key words

Behçet's syndrome, zonulin, intestinal permeability, Crohn's disease, immunosuppressive agents, enzyme-linked immunosorbent assay

Mustafa Erdogan, MD
Fatma Ozbakir, PhD
Berna Yurttas, MD
İbrahim Hatemi, MD
Enes Ali Kurt, MD
Dilsen Cevirgen
Hasan Yazici, MD
Gulen Hatemi, MD

Please address correspondence to:
Mustafa Erdogan
Division of Rheumatology,
Department of Internal Medicine,
Marmara University Pendik Training
and Research Hospital,
Fevzi Çakmak Neighborhood,
Muhsin Yazıcıoğlu Street no: 10,
Kaynarca, Pendik,
34998 Istanbul, Turkey.
E-mail: mustafa.erdogan@marmara.edu.tr

Received on February 1, 2026; accepted
in revised form on June 26, 2026.

© Copyright CLINICAL AND
EXPERIMENTAL RHEUMATOLOGY 2026.

*Funding: the study was funded by
Istanbul University-Cerrahpasa,
Scientific Research Projects Coordination
Unit (Project no: 30278).*

*Competing interests: G. Hatemi has
received speaker honoraria or acted as
a consultant for AbbVie/Abbott, Amgen,
Boehringer-Ingelheim, Novartis, Pfizer
and UCB. These relationships are
unrelated to the present study.
The other authors have declared no
competing interests.*

Introduction

The role of gastrointestinal system (GIS) pathologies in the pathogenesis of inflammatory or autoimmune diseases has been postulated for years because the intestinal system is a large reservoir for various exogenous toxins and microorganisms (1, 2). The gut epithelium is the largest barrier surface in the human body between the external environment and the host immune system. The tight junction (TJ) has a crucial role in this barrier function. Damage to these TJs can result in paracellular leakage of the antigens to the submucosal area and potentially trigger an autoimmune or inflammatory disease in genetically susceptible individuals (3). It is also possible that the inflammation and related cytokines can disrupt intestinal permeability (IP) and cause a leaky gut (1, 4). Zonula occludens toxin (Zot) is an enterotoxin of vibrio cholera, causing a reversible opening in the intercellular TJs. Recently, an endogenous homolog of this molecule, known as pre-haptoglobin 2 or zonulin, was identified (5). Serum zonulin measurement via ELISA using anti-zonulin antibodies has emerged as a simple and sensitive method for defining intestinal barrier dysfunction. Exposure to antigens and microorganisms stimulates zonulin overexpression in the gut epithelium, thereby increasing serum zonulin levels and reflecting damage to the epithelial TJs in the small intestine (6).

Behçet syndrome (BS) is a vasculitis of unknown aetiology (7). Previous studies have suggested that altered gut flora could be important in the pathogenesis (8-11). Moreover, studies have evaluated gastroduodenal and small intestinal mucosal permeability in BS using methods such as the sugar absorption test and radioactive tracers. With this study, we aimed to evaluate intestinal permeability in patients with BS by serum zonulin measurements, which is a more current and validated method (12, 13).

Material and methods

Consecutive patients with BS who attended the outpatient clinic of the Behçet's Disease Research Centre of Istanbul University - Cerrahpaşa between January 2019 and April 2021 were

screened for eligibility. Patients between the ages of 18 and 65 years and meeting the International Study Group Behçet's disease criteria (14) were included. Patients with symptoms or signs that could be attributed to gastrointestinal (GI) involvement or clinical conditions that may affect intestinal permeability were excluded. Patients with other major organ involvement such as uveitis, vascular (deep vein thrombosis or arterial involvement), or neurologic involvement (NBS) (parenchymal or dural sinus thrombosis) could be included. Patients who received immunosuppressives were allowed in the study. However, patients over 65 years of age and those with conditions or exposures known to influence intestinal permeability such as recent use (within the last four weeks) of non-steroidal anti-inflammatory drugs (NSAIDs), colchicine, mycophenolate, antibiotics, chemotherapy, curcumin supplements, or alcohol consumption were excluded. In addition, individuals with clinical conditions that may directly affect intestinal permeability, such as gluten hypersensitivity, lactose intolerance, cancer, diabetes, cystic fibrosis, inflammatory bowel disease, or prolonged fasting, as well as those with conditions that have been associated with impaired intestinal permeability, including asthma and chronic dermatitis, or with symptoms attributable to GI disease such as persistent diarrhoea or unexplained abdominal pain, were also not included (15-21).

Demographic, clinical, and laboratory data were collected using a standardised data collection form. The disease activity was assessed using Behçet's Disease Current Activity Form (BDCAF). Patients with a diagnosis of Crohn's disease (CD) who were followed in the gastroenterology outpatient clinic and healthy individuals without any of the exclusion criteria were included as controls. The disease activity of patients with CD was assessed using the Crohn's Disease Activity Index (CDAI).

This study was conducted in accordance with the Declaration of Helsinki and approved by the Ethics Committee of Istanbul University-Cerrahpaşa, Cerrahpaşa Medical School (approval no. 171699-10/5/2018). Written in-

formed consent for publication was obtained from all participants at the time of enrolment.

Zonulin measurements

Venous blood samples were allowed to clot for 1 hour at room temperature before centrifugation for 20 minutes at 1000 x g at 2–8°C. The collected supernatants were stored at -80°C until ELISA assessment, between 2 to 20 months.

All reagents and samples were melted at room temperature (18~25°C) before the ELISA and preheated for 15 min before optical density measurement. We used specific ELISA Kits (Elabscience, Houston, Texas, USA), which recognise Human Zonulin with the Sandwich-ELISA principle. The micro-ELISA plate in this kit has been pre-coated with an antibody specific to Human Zonulin. We added samples to the micro-ELISA plate wells and combined them with the specific antibody. Then, a biotinylated detection antibody specific for Human Zonulin and Avidin-Horseradish Peroxidase (HRP) conjugate was added successively to each microplate well and incubated. Free components were washed away after incubation. The substrate solution was added to each well. Only those wells that contain Human Zonulin, biotinylated detection antibody, and Avidin-HRP conjugate would appear blue. The enzyme-substrate reaction was terminated by adding a stop solution, and the colour turned yellow. The optical density (OD) was measured spectrophotometrically at a wavelength of 450 nm ± 2 nm. We calculated the concentration of Human Zonulin in the samples by comparing the OD of the samples to the standard curve.

Serum C-reactive protein (CRP) was assessed through the method of the particle-enhanced immunonephelometric system using BN-II, Systems (Siemens Healthcare Diagnostics, Marburg Germany). Results were given as mg/L.

Statistical analysis

Considering the magnitude of group differences reported in previous zonulin studies and aiming to ensure adequate representation of the major Behçet subgroups (mucocutaneous, ocular, and

Table I. Demographic and clinical characteristics of patients with Behçet's syndrome.

Number of men/women	60/27
Age at onset of BS (years), median (IQR)	25 (18-30)
Disease duration, years (IQR)	19 (13-27)
BS manifestations (ever), n (%)	
Oral ulcers	85 (98)
Genital ulcers	48 (55)
Erythema nodosum like lesions	45 (52)
Papulopustular lesions	58 (67)
Uveitis	39 (45)
CNS involvement	3 (3)
Deep vein thrombosis	29 (33)
Joint involvement	13 (15)
Active BS manifestations (at blood collection), n (%)	47 (54)
Oral ulcers	30 (34)
Genital ulcers	3 (3)
Erythema nodosum like lesions	4 (5)
Papulopustular lesions	25 (29)
Uveitis	4 (5)
CNS involvement	0
Deep vein thrombosis	2 (2)
Joint involvement	13 (15)
Treatment modalities at the time of blood collection, n (%)	48 (64)
Glucocorticoids	14 (16)
Azathioprine	33 (38)
Mycophenolate mofetil	0
Cyclosporine-A	9 (10)
Interferon-α2b	9 (10)
TNF inhibitors	13 (15)
Adalimumab	3
Infliximab	10

BS: Behçet's syndrome; CNS: central nervous system; TNF: tumour necrosis factor.

vascular) a conservative standardised effect size of Cohen's $d=1.0$ was assumed for sample size planning, and approximately 20-25 participants per group were targeted (22).

Statistical analyses were conducted using IBM SPSS Statistics (version 25) for primary analyses and Python's SciPy and Statsmodels libraries for advanced statistical modelling. Continuous variables were reported as median (interquartile range, IQR), while categorical variables were expressed as frequencies and percentages. The normality of data distribution was assessed using the Kolmogorov-Smirnov test, which indicated that zonulin levels were not normally distributed ($p<0.05$). Therefore, differences in zonulin levels among the three groups (BS, CD, and healthy controls) were analysed using the Kruskal-Wallis test.

Post-hoc pairwise comparisons were conducted using Dunn's test with Bonferroni correction, performed in Python. Categorical variables were compared among the three groups using the Chi-

square or Fisher's exact test, depending on expected cell counts.

To assess factors associated with elevated zonulin levels, participants were categorised into two groups: those with zonulin levels above the median value and those below or equal to the median. The association between potential predictor variables and this classification was examined using Chi-square tests to identify statistically significant factors. Logistic regression analysis was performed using variables that were either statistically significant in univariate analyses or deemed clinically relevant. Logistic regression was performed within the BS subgroup only. Variance Inflation Factor (VIF) analysis was conducted to evaluate multicollinearity, and variables with high collinearity were excluded to improve model stability. Statistical significance was set at $p<0.05$.

Results

A total of 173 participants, comprising 76 females (44%) and 97 males (56%), with a median age of 39 years (IQR: 31-

Table II. Characteristics of study participants in each group.

	Behçet's syndrome (n=87)	Crohn's disease (n=20)	Healthy controls (n=66)	p-value
Age (years), median (IQR)	40 (35-52)	41 (29-47)	32 (22-42)	0.01
Sex, F/M ratio	0.44	1.2	1.36	<0.01
Number of patients with active disease*(%)	29 (33)	0	NA	NA
CRP (mg/L), median (IQR)	2.1 (1.2-5.5)	3.5 (1.4-7.5)	1.5 (0.4-3.3)	<0.01
Serum zonulin level (ng/mL), median (IQR)	24 (18-43)	112 (22-204)	109 (36-226)	<0.01

*BDCAF score ≥ 2 for patients with BS, CDAI score for patients with CD.

BDCAF: Behçet's Disease Current Activity Form; CRP: C-reactive protein; IQR: interquartile range.

46), were enrolled based on eligibility criteria. The cohort included 87 patients with BS (50%), 20 patients with CD (12%), and 66 healthy controls (38%). Among BS patients, 33% had a BDCAF score of ≥ 2 , while all the CD patients were in remission (CDAI<150). The median disease duration among BS patients was 19 years (IQR: 13–27). A total of 58 BS patients (67%) had at least one major organ involvement, with uveitis in 48 patients (55%), vascular involvement in 34 patients (39%), and central nervous system involvement in 3 patients (3%). Sixty-four percent of BS patients were receiving immunosuppressive therapy, and 24% were on biological agents such as infliximab, adalimumab, or interferon alpha-2b. A detailed summary of the demographic and clinical characteristics of BS patients is given in Table I.

The median serum zonulin level for the overall study population was 36 ng/mL (IQR: 20-158). Across all groups, females had significantly higher zonulin levels than males (149 ng/mL [IQR: 42-226] vs. 24 ng/mL [IQR: 16-42], $p<0.01$). Compared to healthy controls and Crohn's disease patients, Behçet syndrome patients had significantly lower serum zonulin levels ($p<0.01$), as detailed in Table II.

In the univariate logistic regression analysis, female gender was found to be significantly associated with elevated zonulin levels, with an odds ratio (OR) of 11.27 (95% CI: 3.31–38.36, $p<0.001$). None of the other clinical variables showed a statistically significant association with elevated zonulin levels in univariate analysis.

In multivariate logistic regression analysis, female gender remained an independent predictor of elevated zonulin

Table III. Univariate and multivariate logistic regression analyses of factors associated with elevated zonulin levels.

Variable	Univariate OR (95% CI)	Univariate p-value	Multivariate OR (95% CI)	Multivariate p-value
Gender (female)	11.27 (3.31-38.36)	<0.001	13.5 (2.5-72)	<0.001
Immunosuppressive	0.96 (0.32-2.84)	0.9	1 (0.2-4.8)	0.9
BDCAF score ≥ 2	1.11 (0.38-3.21)	0.8	0.6 (0.1-2.4)	0.5
Vascular involvement	0.83 (0.27-2.53)	0.7	1.7 (0.1-26)	0.7
Ocular involvement	0.41 (0.14-1.25)	0.1	1.1 (0.1-36)	0.4
Other subgroups	2.78 (0.9-8.57)	0.08	0.9 (0.02-29)	0.9

BDCAF: Behçet's Disease Current Activity Form; OR: odds ratio.

levels (OR=13.5, 95% CI: 2.5–72, $p<0.001$). Other factors, including the presence of immunosuppressive treatment (OR=1.0, 95% CI: 0.2–4.8), BDCAF score ≥ 2 (OR=0.6, 95% CI: 0.1–2.4), vascular involvement (OR=1.7, 95% CI: 0.1–26), ocular involvement (OR=1.1, 95% CI: 0.1–36), and other types of organ involvement (OR=0.9, 95% CI: 0.02–29), were not associated with elevated zonulin levels (Table III).

Discussion

Increased IP and dysbiosis have been an object for many sceptics to delineate the role of the gastrointestinal system in the pathogenesis of inflammatory diseases, including rheumatic diseases (1, 22-26). Traditionally, urinary measurement of unabsorbable sugars has been the most used method for assessing IP (27). However, serum zonulin measurement provides a more convenient alternative, showing a strong correlation with sugar permeability tests and serving as a reliable biomarker for increased IP in multiple clinical conditions (28, 29).

Despite numerous studies reporting altered IP in various inflammatory diseases, only three studies have specifically examined IP in patients with BS (12, 13, 30). The first study, conducted by

our group, had demonstrated increased IP in BS patients compared to healthy hospital staff but not when compared to patients with ankylosing spondylitis or systemic lupus erythematosus, using a chromium-51 ethylenediamine-tetraacetic acid (Cr-EDTA) tracer test (12). The second study investigating the upper GI permeability by sucrose absorption test revealed increased IP in patients with BS compared to healthy controls. Furthermore, patients with active disease and those receiving colchicine had higher permeability than patients with inactive disease who were not on colchicine (13). Finally, a recent study reported that zonulin levels were elevated in patients with active Behçet uveitis and Fuchs uveitis syndrome without treatment compared to healthy controls, indicating a potential disruption of the gut barrier in these conditions (30).

Our study did not reveal increased IP in patients with BS compared to healthy controls or CD patients. There are certain key differences between this study and the previous studies that may be responsible for the different results. First, in the current study, we excluded patients with additional risk factors that could potentially increase IP, such as colchicine or NSAID use (5, 6, 18, 19,

28, 31-36). Additionally, a substantial proportion of BS patients (64%) were using at least one immunosuppressive, including glucocorticoids, TNF inhibitors, azathioprine, and cyclosporine A. Given that glucocorticoids, TNF inhibitors, and other immunosuppressives have been shown to stabilise tight junctions and reduce IP, it is plausible that the lack of zonulin elevation in our BS cohort may be attributed to the impact of immunosuppressives on gut barrier dysfunction, together with the meticulous exclusion of BS patients with additional risk factors for IP (37-39). Although patients with inflammatory bowel diseases typically exhibit increased IP due to epithelial barrier damage (40), in our study, CD patients, who were all in remission, had similar IP to healthy controls.

Furthermore, microbial dysbiosis has been associated with altered zonulin levels in uveitis patients. In particular, *Fusicatenibacter* abundance was inversely correlated with zonulin levels, while *Moraxella*, *Clostridia_UCG-014_unclassified*, and *Alloprevotella* showed a positive correlation (30). This suggests that specific microbial compositions might modulate zonulin secretion, influence IP and potentially contributing to systemic inflammation. The majority of BS patients in our study were receiving immunosuppressive therapy, which may have mitigated such microbiota-mediated effects.

Given these findings, our results should be interpreted cautiously regarding the relationship between zonulin levels, IP, and BS pathogenesis. Future studies should aim to compare zonulin levels in treatment-naïve BS patients and those on immunosuppressive therapy, as well as integrate microbiome analyses to better understand how gut microbial alterations contribute to disease pathogenesis and zonulin regulation in BS. Longitudinal studies comparing zonulin levels at the time of diagnosis and later in the disease course and comparing levels during active disease and remission in the same patient would also help our understanding of the relevance of IP for BS.

Interestingly, female sex was the only independent predictor of increased

zonulin levels in multivariate analysis. The gut microbiome exhibits sex-based variations (41), yet studies assessing whether sex influences IP have yielded conflicting results (42-44). Although female sex appeared as an independent predictor of higher zonulin levels, this should be interpreted cautiously due to age and sex imbalances between groups, especially the younger and predominantly male BS cohort. It remains unclear whether these differences in IP contribute to variations in immune response, autoimmune disease prevalence, or disease severity. In contrast, age, BS symptoms (current or past), disease activity, and ongoing treatments were not associated with zonulin levels. Several recent reports have questioned the analytical specificity of commercially available zonulin ELISA kits, suggesting that these assays may detect proteins other than true pre-HP2. This limitation may have contributed to the low zonulin levels observed in our BS and CD groups. Although the same kit was uniformly used across all participants which supports internal validity, these methodological issues should be kept in mind when interpreting our findings and when concluding that intestinal permeability is not increased in BS (45-47). Adding a sucrose permeability test in at least some participants as an internal validation method for our zonulin test assay performance would have added to the reliability of the results. Such methodological constraints may have influenced our findings and should be considered when interpreting the lack of increased intestinal permeability in BS.

The cross-sectional design precludes causal inference regarding the relationship between intestinal permeability and disease activity. Also, the absence of a treatment-naïve group and the lack of pre- and post-treatment assessments limit the ability to disentangle the effects of disease-related mechanisms from those of ongoing immunosuppressive therapy. Given that a substantial proportion of patients were receiving treatment, the findings may reflect treatment-related modulation of intestinal permeability rather than intrinsic disease characteristics. These factors

should be considered when interpreting the generalisability of our results.

In conclusion, in this cross-sectional study, patients with BS did not exhibit increased IP. Future longitudinal studies assessing patients before and after treatment or during disease exacerbations would be helpful to better elucidate the relationship between IP, disease activity, and immunosuppressive therapy. The absence of elevated zonulin levels in our cohort should be interpreted with caution, as it may reflect a combination of biological factors, treatment effects, and limitations of the biomarker used. We reason such studies will also help clarify whether IP alterations contribute to BS pathogenesis or are merely a consequence of inflammation and treatment.

Acknowledgements

The authors are grateful to all study participants, Şükran Yüksel Fındıkoğlu, and the entire rheumatology staff at Cerrahpaşa Medical School for their kind assistance and support.

References

1. FASANO A: Zonulin and its regulation of intestinal barrier function: the biological door to inflammation, autoimmunity, and cancer. *Physiol Rev* 2011; 91(1): 151-75. <https://doi.org/10.1152/physrev.00003.2008>
2. SANTILLI A, STEFANOPOULOS S, CRESCI GAM: The gut barrier and chronic diseases. *Curr Opin Clin Nutr Metab Care* 2022; 25(3): 178-85. <https://doi.org/10.1097/mco.0000000000000820>
3. ROSENBAUM JT, ASQUITH M: The microbiome and HLA-B27-associated acute anterior uveitis. *Nat Rev Rheumatol* 2018; 14(12): 704-13. <https://doi.org/10.1038/s41584-018-0097-2>
4. AL-SADI R, YE D, DOKLADNY K, MA TY: Mechanism of IL-1beta-induced increase in intestinal epithelial tight junction permeability. *J Immunol* 2008; 180(8): 5653-61. <https://doi.org/10.4049/jimmunol.180.8.5653>
5. FASANO A, NOT T, WANG W *et al.*: Zonulin, a newly discovered modulator of intestinal permeability, and its expression in coeliac disease. *Lancet* 2000; 355(9214): 1518-19. [https://doi.org/10.1016/S0140-6736\(00\)02169-3](https://doi.org/10.1016/S0140-6736(00)02169-3)
6. FASANO A: Intestinal permeability and its regulation by zonulin: diagnostic and therapeutic implications. *Clin Gastroenterol Hepatol* 2012; 10(10): 1096-100. <https://doi.org/10.1016/j.cgh.2012.08.012>
7. YAZICI H, SEYAHİ E, HATEMI G, YAZICI Y: Behçet syndrome: a contemporary view. *Nat Rev Rheumatol* 2018; 14(2): 107-19. <https://doi.org/10.1038/nrrheum.2017.208>
8. PAGLIAI G, TURRONI S, D'AMICO F *et al.*: Modulation of gut microbiota through nutri-

- tional interventions in Behçet's syndrome patients: preliminary results from the MAMBA study. *Proceedings* 2023; 91(1): 154. <https://doi.org/10.3390/proceedings2023091154>
9. CONSOLANDI C, TURRONI S, EMMI G *et al.*: Behçet's syndrome patients exhibit specific microbiome signature. *Autoimmun Rev* 2015; 14(4): 269-76. <https://doi.org/10.1016/j.autrev.2014.11.009>
 10. EMMI G, BETTIOL A, NICCOLAI E *et al.*: Butyrate-rich diets improve redox status and fibrin lysis in Behçet's syndrome. *Circ Res* 2021; 128(2): 278-80. <https://doi.org/10.1161/circresaha.120.317789>
 11. YASAR BILGE NS, PÉREZ BROCAL V, KASIFOGLU T *et al.*: Intestinal microbiota composition of patients with Behçet's disease: differences between eye, mucocutaneous and vascular involvement. The Rheuma-BIOTA study. *Clin Exp Rheumatol* 2020; 38 (Suppl. 127): S60-68.
 12. FRESKO I, HAMURYUDAN V, DEMIR M *et al.*: Intestinal permeability in Behçet's syndrome. *Ann Rheum Dis* 2001; 60(1): 65-66. <https://doi.org/10.1136/ard.60.1.65>
 13. KOC B, AYMELEK S, SONMEZ A, YILMAZ MI, KOCAR H: Increased sucrose permeability in Behçet's disease. *Rheumatol Int* 2004; 24(6): 347-50. <https://doi.org/10.1007/s00296-003-0375-3>
 14. INTERNATIONAL STUDY GROUP FOR BEHÇET'S DISEASE: Criteria for diagnosis of Behçet's disease. *Lancet* 1990; 335(8697): 1078-80. [https://doi.org/10.1016/0140-6736\(90\)92643-V](https://doi.org/10.1016/0140-6736(90)92643-V)
 15. QASIM M, RAHMAN H, AHMED R, OELLERICH M, ASIF AR: Mycophenolic acid mediated disruption of the intestinal epithelial tight junctions. *Exp Cell Res* 2014; 322(2): 277-89. <https://doi.org/10.1016/j.yexcr.2014.01.021>
 16. DAVIES NM: Review article: non-steroidal anti-inflammatory drug-induced gastrointestinal permeability. *Aliment Pharmacol Ther* 1998; 12(4): 303-20. <https://doi.org/10.1046/j.1365-2036.1998.00300.x>
 17. BJARNASON I, PETERS TJ: Influence of anti-rheumatic drugs on gut permeability and on the gut associated lymphoid tissue. *Baillieres Clin Rheumatol* 1996; 10(1): 165-76. [https://doi.org/10.1016/S0950-3579\(96\)80011-2](https://doi.org/10.1016/S0950-3579(96)80011-2)
 18. QI Y, GOEL R, KIM S *et al.*: Intestinal permeability biomarker zonulin is elevated in healthy aging. *J Am Med Dir Assoc* 2017; 18(9): 810.e1-810.e4. <https://doi.org/10.1016/j.jamda.2017.05.018>
 19. KARL JP, MARGOLIS LM, MADSLIEN EH *et al.*: Changes in intestinal microbiota composition and metabolism coincide with increased intestinal permeability in young adults under prolonged physiological stress. *Am J Physiol Gastrointest Liver Physiol* 2017; 312(6): G559-71. <https://doi.org/10.1152/ajpgi.00066.2017>
 20. CLEMENTE MG, DE VIRGILIIS S, KANG JS *et al.*: Early effects of gliadin on enterocyte intracellular signalling involved in intestinal barrier function. *Gut* 2003; 52(2): 218-23. <https://doi.org/10.1136/gut.52.2.218>
 21. BERGINC K, TRONTEL J, BASNET NS, KRISTL A: Physiological barriers to the oral delivery of curcumin. *Pharmazie* 2012; 67(6): 518-24.
 22. CICCIA F, GUGGINO G, RIZZO A *et al.*: Dysbiosis and zonulin upregulation alter gut epithelial and vascular barriers in patients with ankylosing spondylitis. *Ann Rheum Dis* 2017; 76(6): 1123-32. <https://doi.org/10.1136/annrheumdis-2016-210000>
 23. AKDIS CA: Does the epithelial barrier hypothesis explain the increase in allergy, autoimmunity and other chronic conditions? *Nat Rev Immunol* 2021; 21(11): 739-51. <https://doi.org/10.1038/s41577-021-00538-7>
 24. MARTEL J, CHANG SH, KO YF, HWANG TL, YOUNG JD, OJCIUS DM: Gut barrier disruption and chronic disease. *Trends Endocrinol Metab* 2022; 33(4): 247-65. <https://doi.org/10.1016/j.tem.2022.01.002>
 25. TAJIK N, FRECH M, SCHULZ O *et al.*: Targeting zonulin and intestinal epithelial barrier function to prevent onset of arthritis. *Nat Commun* 2020; 11(1): 1995. <https://doi.org/10.1038/s41467-020-15831-7>
 26. EVRENSEL A: Microbiome-induced autoimmunity and novel therapeutic intervention. *Adv Exp Med Biol* 2023; 1411: 71-90. https://doi.org/10.1007/978-981-19-7376-5_4
 27. BJARNASON I, MACPHERSON A, HOLLANDER D: Intestinal permeability: an overview. *Gastroenterology* 1995; 108(5): 1566-81. [https://doi.org/10.1016/0016-5085\(95\)90708-4](https://doi.org/10.1016/0016-5085(95)90708-4)
 28. SAPONE A, DE MAGISTRIS L, PIETZAK M *et al.*: Zonulin upregulation is associated with increased gut permeability in subjects with type 1 diabetes and their relatives. *Diabetes* 2006; 55(5): 1443-49. <https://doi.org/10.2337/db05-1593>
 29. LIU ZH, HUANG MJ, ZHANG XW *et al.*: The effects of perioperative probiotic treatment on serum zonulin concentration and subsequent postoperative infectious complications after colorectal cancer surgery: a double-center and double-blind randomized clinical trial. *Am J Clin Nutr* 2013; 97(1): 117-26. <https://doi.org/10.3945/ajcn.112.040949>
 30. LIU M, LI M, JIN S, WANG X, GENG J, LIU X: Differential intestinal microbes and metabolites between Behçet's uveitis and Fuchs syndrome. *Heliyon* 2024; 10(20): e39393. <https://doi.org/10.1016/j.heliyon.2024.e39393>
 31. FRADKIN A, YAHAV J, DIVER-HABER A, ZEMER D, JONAS A: Colchicine enhances intestinal permeability in patients with familial Mediterranean fever. *Eur J Clin Pharmacol* 1996; 51(3-4): 241-45. <https://doi.org/10.1007/s002280050191>
 32. PUROHIT V, BODE JC, BODE C *et al.*: Alcohol, intestinal bacterial growth, intestinal permeability to endotoxin, and medical consequences: summary of a symposium. *Alcohol* 2008; 42(5): 349-61. <https://doi.org/10.1016/j.alcohol.2008.03.131>
 33. BINDELS LB, NEYRINCK AM, LOUMAYE A *et al.*: Increased gut permeability in cancer cachexia: mechanisms and clinical relevance. *Oncotarget* 2018; 9(26): 18224-38. <https://doi.org/10.18632/oncotarget.24804>
 34. JIANG XH, LI N, LI JS: Intestinal permeability in patients after surgical trauma and effect of enteral nutrition versus parenteral nutrition. *World J Gastroenterol* 2003; 9(8): 1878-80. <https://doi.org/10.3748/wjg.v9.i8.1878>
 35. MORRIS AJ, HOWDEN CW, ROBERTSON C *et al.*: Increased intestinal permeability in ankylosing spondylitis--primary lesion or drug effect? *Gut* 1991; 32(12): 1470-72. <https://doi.org/10.1136/gut.32.12.1470>
 36. HAMILTON I, FAIRRISS GM, ROTHWELL J, CUNLIFFE WJ, DIXON MF, AXON AT: Small intestinal permeability in dermatological disease. *Q J Med* 1985; 56(221): 559-67.
 37. BOIVIN MA, YE D, KENNEDY JC, AL-SADI R, SHEPELA C, MATY: Mechanism of glucocorticoid regulation of the intestinal tight junction barrier. *Am J Physiol Gastrointest Liver Physiol* 2007; 292(2): G590-98. <https://doi.org/10.1152/ajpgi.00252.2006>
 38. LIMA MSR, DE LIMA VCO, PIUVEZAM G, DE AZEVEDO KPM, MACIEL BLL, MORAIS AHA: Mechanisms of action of anti-inflammatory proteins and peptides with anti-TNF-alpha activity and their effects on the intestinal barrier: a systematic review. *PLoS One* 2022; 17(8): e0270749. <https://doi.org/10.1371/journal.pone.0270749>
 39. KHARE V, KRNIC A, FRICK A *et al.*: Mesalamine and azathioprine modulate junctional complexes and restore epithelial barrier function in intestinal inflammation. *Sci Rep* 2019; 9(1): 2842. <https://doi.org/10.1038/s41598-019-39401-0>
 40. MATY: Intestinal epithelial barrier dysfunction in Crohn's disease. *Proc Soc Exp Biol Med* 1997; 214(4): 318-27. <https://doi.org/10.3181/00379727-214-44099>
 41. RIZZETTO L, FAVA F, TUOHY KM, SELMI C: Connecting the immune system, systemic chronic inflammation and the gut microbiome: the role of sex. *J Autoimmun* 2018; 92: 12-34. <https://doi.org/10.1016/j.jaut.2018.05.008>
 42. SNIPE RMJ, COSTA RJS: Does biological sex impact intestinal epithelial injury, small intestine permeability, gastrointestinal symptoms and systemic cytokine profile in response to exertional-heat stress? *J Sports Sci* 2018; 36(24): 2827-35. <https://doi.org/10.1080/02640414.2018.1478612>
 43. SHAIKH M, RAJAN K, FORSYTH CB, VOIGT RM, KESHAVARZIAN A: Simultaneous gas-chromatographic urinary measurement of sugar probes to assess intestinal permeability: use of time course analysis to optimize its use to assess regional gut permeability. *Clin Chim Acta* 2015; 442: 24-32. <https://doi.org/10.1016/j.cca.2014.12.040>
 44. MAGET A, DALKNER N, HAMM C *et al.*: Sex differences in zonulin in affective disorders and associations with current mood symptoms. *J Affect Disord* 2021; 294: 441-6. <https://doi.org/10.1016/j.jad.2021.07.021>
 45. MASSIER L, CHAKAROUN R, KOVACS P, HEIKER JT: Blurring the picture in leaky gut research: how shortcomings of zonulin as a biomarker mislead the field of intestinal permeability. *Gut* 2021; 70(9): 1801-2. <https://doi.org/10.1136/gutjnl-2020-323026>
 46. AJAMIAN M, STEER D, ROSELLA G, GIBSON PR: Serum zonulin as a marker of intestinal mucosal barrier function: may not be what it seems. *PLoS One* 2019; 14(1): e0210728. <https://doi.org/10.1371/journal.pone.0210728>
 47. SCHEFFLER L, CRANE A, HEYNE H *et al.*: Widely used commercial ELISA does not detect precursor of haptoglobin2, but recognizes properdin as a potential second member of the zonulin family. *Front Endocrinol (Lausanne)* 2018; 9: 22. <https://doi.org/10.3389/fendo.2018.00022>